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Section A {58 marks)

For each question from 1 to 28, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade your answer on the Optical Answer Sheet {OAS).

; Study the organisms below carefully.

Group X

bread mould turtie

Which of the following about Groups X and Y is correct?

A. Group X grows but Group Y does not.

B: Group X makes its own food but Croup Y does not.

C: Group X reproduces by.spm‘es but Group Y doas not.

D: Group X needs alr, food and water but Group Y does not,

(1) A
2 B
(3) ¢
4y D
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2,

Sulaiman conducted an experiment fo find out if the size of food affects how fast

digestion takes place. He sets up 2 identical beakers, A and B, containing the same
amount of lime juice.

lime juice

Set-up A Setup B

¥Which of the following food sizes should he use for the set-ups?

Set-up A Set-up 8 =
(1) QOAO
= &
(3)
4) &
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3.

The pictures below shows commuters in 2 lain dunng peak hours.

A few commuters complained of having difficulties in breathing and felt uncomfortable.

What could be the possible changes in the composition of air in the train which led to

their discomfort?

—

Nitrogen F Oxygen Carbon T water

dioxide Vapour

(1) Increase Decrease Increase | Remain

1 the same

(2) Decrease Increase Decrease Remain

the same

(3} Remain the Increase Decrease Decrease
same

{4) | Remain the Decrease Increasa Increase
same
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4. Four biood samples, A, 8, C and D, were iaken from different blood vessels in the

human body. The graph below shows the armount of oxygen in each of the blood
samples.

Armount of -
oxygan

-

LB N IS !
A B C D

Which bleod sampls (A, B, C or D) was most likely taken from blood going from the
haart o the lungs?

(1) A
2 B
(3) C

4 D
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5. Desmond put four glass jars A, B, C and D containing six similar seeds in as shown
below. After a few days, he observed the seeds,

Jar A

In which jars would he most likely be able to ses the growth of seedlings?

JarB JarC JarD
SO S 00 Q00 (G604
cotton wool Damp Damp Damp Dry
Location Inthe freezer | Nearawindow | Inadakroom | inthe garden

(1) dJar A and Jar B only

(2) JarB and Jar C only

(3) Jar B and Jar D only

(4) Jar A, Jar B and Jar C only
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8. Fanmer John found many organism X on his frul lrees. He decided to leave hem 10
develop to the naxt stage. Why is that sc?

{1) itis a pestand it is foo many (o remove.
{2) It has stopped fesding so it will not destioy his trees.
{3) W does not need air to survive st it will not compete for oxygen.

(8; It can reproduce at this stage so they can help in poliination.
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7. Shufen placed a balsam plant into a beaker with 300 ml of water. She added a layer

of oil on the water. Afier three days, she observed thal the leaves and flowers began
to wither. The water level remained at 300ml.

A layer of oil

\C:::“ roots covered in a
- black plastic bag

This experiment shows that plants

(1) need air
{2) repreducs
(3) need water to survive

{4) can maks their own food
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8. The ilowchart below shows the characteristics of four organisms, A, B, Cand D,

Doss it make its es . i A
own Tood?

No

@ ) No
Does it fly?

v
m.

Yes

¥

Doss it have hair? o C

Y

Yes

v

D

Based on the floweharnt above, what could arganisms A, B, C and D ba?

P B8 C D
(1} |Fem 1 Mushroom Bird Mammal
(2) |Fungt | Bird Butterfly Mammal
(3) |Fem Yeast Fish Buiterfly
(4) |Fungi | Mammal Grasshopper | Bird |
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9. Alicia observed three cells, A, B and C, under ths microscope and recorded her resulls in
the table belowr.

Parts of cell Cell A Coli B CaliC
Nucleus J 3 Y
Cell Wall X ¥ O d
Cytoplasm 3 J 7
Chioroplast X X ) J
....... )

Based on her observalions, Alicia then classified the cells (A, B and C) into animal cells and
plant cells. Which of the following shows the comect classification?

Animal Csll Plani Cel)
(1) A B and C
(2) B Aand C
(3) Aand C B
@ |  AadB C
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10.  The diagram below shows Celf X,

Cell X swelled after it has been
placed in water

A group of students ptaced Celi X in water. After a while, # swalled.

The students then concluded that Cell X swelled because the

allowsd water o emier,

A ceil wall

B. nucleus

C. cytoplasm

D. call membrane

Which of the following are correct?
(1} Aand Bonly

{2) Aand C only
(3} Band C only

{4 Banrd Donly
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11, Two islands P and Q were located beside each other. No one lived on those islands. in

Island P, four different types of plants were found but none of these plants were found in
Island Q.

T o o o o T o e e e e e e st e 2 e P L B B B s £

ek i

T'he charactenstics of the four fruits are shown in the table below.

Plant Characteristic of fruit
- A Fibrous husk
8 Dry fruit wall
c Fleshy and juicy
D Soft hair-like slructures

After some tims, some of the plants ware found to be growing on Istand Q. Which plants
were most likety to be growing on Island Q7

(‘i} A and C cnly
(2) AandBonly
(3) A, CandDonly

(4) B.CandDonly
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12. Plant Z has male and female reproductive pants growing on separate fiowers

Fama!&f

Flowar

Plant Z

The male flowers are observed to have grown tallsr than the female flowers.

Which of the following can be a possible reason for the male fiower growing taller than
the female fiower?

{1) This allows the stigma to grow towards the anther.
{2) This allows the anther to be easily carried away by wind.
(3} This allows the insects to reach the stigma sasily for pollination.

(4} This allows pollen grains from the anther o fall onto the stigma easily.
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13. The diagram below shows the male and female human reproductive system.

Based on the above illustration, how does sperm travel to allow fertilisation to take place?
() C>D2B>AE

(20 D3IB>AD>ESDF
(3 ES>A>B>DSC
(49 FSE>A>B-SD
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4. Abrgail conducted an experiment using a beaker of water to observa how heat was gainad and
fost. She measured the temperaiure of the water at various times as shown below,

Terngentue 4
- D £
A
8 e c
f &
Time {ming

Which of the foliowing describes the changas taking place in the beaker during the experiment?

(1) AtoB Some ice cubes were added info the beaker. N
(2) " BiwC A fighted candle is placed beside the beakar, i
(3) T CwD [ The beaker of water is placed in the freezer, .
(4} - DtoE More water at 80°C is added into the beaker, o
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15. "Ralnwater Harvesting”™ systems as shown below are commonly used in some places for
residents 1o conserve water in their homes.

Collectlon Area

B s gt g e s e ¢

How can residents improve the syslem so that they can conserve more water?
A: Make the Collection Area bigger
B: Repalr leaks in the Storage Facliity tanks

C: Buiki one more pipe in the Transportation System

(1) AandB
2) AandC
{3) BandC

(4) A BandC
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16. The diagram below shows a set-up that represents the water cydle,

ICe CUbg — dish
veater dropleis

water at 98°C

heat solrce

el
Fofr students made the following statements on the objects used in the set-up.

Amy. The ics cubes melled lo form water droplets.
Bella: The dish prevenis watsr vapour from escaping.
Cliff: The heat sourcs repjesents the Sun in the water cycle,

Whose statemeni(s) isfare gorvect?

(1}  Amyconly

(2y  Bella and CIifi only

{3) Amy and Bslla only
(4) Amy, Bella and CIiff
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17. The table beiow shows the stale of four different substances, A, B, C and D, at different

temperatures.
Stato of State of State of |
Subs substance at substance at substance at
ubstuIcH 20°C 50°C 20°C
A Gas Gas ' Gas
B Solid Solid Liquid |
C Liquid Liquid Gas
D Solld Liquid Liquid

Which substance has the lowest melting poini?

{1y A
) B
(3 C
4) D
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18. Adrop of wax is placed on one end of four rods (A B. C and D) respectively. Each rod is mads
of 2 different material. The other end of each rod is heated over a fire untit the wax melis
completely as shown in diagram A,

A0 & way
B U 3) ' 2)
cQ ) E
§)
& 9 Diagram A
The time neseded for the wax to mell is recorded in e iable below.
" Winterial Time taken for wax to meit completely {seconds)
A 55
B N 36
B 300
23 180

metal
plate

Based on the above results, which of the folicaving materials is the most suitable to make
the handls and mstal plate?

Handle Metal plate
(1) c B
@ B ¢
O 8
@ A c
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18. Four materials, €, F, G and H, were connected in the electrical circuit as shown below,

Which of the following correcty Tepresents the materials £, F, G and H such that only two of
the bulbs wit light up?

Waterial E | Material F | Matorial G | Material &
(1) Plastic Wood Glass : Iron
(2) Copper Plastic Steel Glass
(3) fron Copper Steel Plastic
C)] Steel Glass Wood Copper
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20. Lisa wanted to find out if tha size of tha magnet affects the distancs the papsr clips ars
attracled,

[r—
paper clips
magnel  distance |
priy o L,
g ()

Magnet P Magnet Q Magnet R Magnei S

She plotied her results in the graph as shown below.

Magnet P
Magnet Q
Magnet R | ]
Magnet S Maximum
: . ] : , ,, distance when
R i ’ the paper clips
1 2 3 4 5 6 7 arg attracted
{em)

Based on the graph, which of the following statements aro true?

A Magnet Q Is not as sirong as Magnet P,

B: Magnet S is the sirongest as it is the biggest.

C: Magnet R can attract more paper clips than Magnet S,

0. Magnet P is able to attract paper clips that are placed 4 cm away from it.
(1) A only
{2)  BandConly
{3) A, C and D oniy

{4) B, C and D only
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21. Aisha carried out an experiment using three metal bars, P, Q and R, She set up the electrical
system as shown below.

4’/‘ sl
a1
b
1 >
) Meta'barP, Qor iR
qr-“:f_r--‘*"
® o
-:*""h
—
lIron nails

YYhen she closed the switch, the metal bar was able to attract some iron naifs. When the switch
vias opered, the nails dropped. She then recorded the results as shown below.

Metal bar | Number of nails attracted | Number of nais left on the metal bar
P o 35 4 .
Q " 20 5
R 40 3

What conclusions can Aisha draw from her results?

(1) Metal P will make tha best electromagnet.
(2) Metal Q will make the best electromagnet.
(3) Metal R will make the best electromagnet.

(4) Metal Q will make the best permanent magnet.
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22. Paul wanted to invesligale if the distance between an object and the light sensor affects the
reading of the light sensor. He prepared the set-up as shown below.

lighted torch Object

Q:G) Light sehsor

: e —

-

Which of the following variables should be kept constant o ensure a fair test?

A Material of the pbjects

B: Amount of light from the torch

C: Distance between the torch and the object

D: Distance between the object and the light sensor

{1) A, Band C only
(2) A Band D only
(3) &, Cand D only

{4) B, C and D only
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23. Zenn made a doll from a ball, a toothpick and a cone as shown below.

Which of the faliowing shadove(s}) could be formed when light is shone from all diractions?

. 11

(1) Aonly
(2} A=andBonly
(3) C and Donly

(4) A, CandD only
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24, Jonsthan conducied an experiment by placing a glass cube and an lron cube of the sams size
al room temperature into a beaker of hot waler as shown in the diagram helow.

R

e

\Eﬁw—""”’: | hotwater at 80°C

iron __ ﬁ glass cube
cube

He then lefi the set-up on the tzble in the laberatery for 15 minutes.

What would be the most likely femperatures of the glass cube, iron cube and water at the =nd of
the experiment?

Temperaturs (°C}
iron cube Glass cubs Waler
) 85 35 26 |
@ 55 35 75
3) 45 45 75
7% EE © 45 65
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25. Michaela sel up an experiment using two beakers of waler, A and B, of the sams
temperature. She placed the two beakers on a table in an air-conditioned room with the room
temperature set at 20°C.

e
e

200ml of water — 500ml of water
= \, P, \

beaker A beaker B

nEn

Which line graph shows the likely changes in the temperature of the water in the two beakers
after some time?

L

M ¢ @

Temperature

Tempearatura
"G

'C)

ki

0 Time (h) ;
(3) 4+ ) 4
Temperaiure Temperature
(*C) (°C)

—
L 4

L 4
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28. Jen constructed a cireuit with four bulbs and two balterles. She coverad the circuit with a plece
of cardboard. The bulbs could be sean through the holes 3s shown below.

XA Qo

0 &°

Jen removed buibs A, B, C and D one at a iime and obsenved the other three bulbs befors
connecting e bulb back into the circuit. She recorded her observations in the table below.

Bulb removed A B C D
Obsarvations | B ang G did Aand D AandD | A BendC did
not light up remained It | remained it not flight up

Which of the following shows the circuil under the cardboard?

(1) T'IL/EQD {2;A®_1’i"%n
‘3’*"”‘:’"'/@9 @ j{g‘l""%}o

- R
i ®
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27. Mohan carried out an expenment to find out which objects, W, X, Y and Z, allow alectricity o

pass through. He connected each object to the same circuit one at a time, His results are shown

in the tadle below.

[“m  Object Light produced by butb |
{_ W ~ Dim B
= . R
| X None
i

Yo ) ~ Very bright

7z T None

Which four objects were used in Motan's experiment?

—— v _ - T
(N Pencillead | Plastic ruler Steel clip ‘Glass slide
)|  Glasssiide | Sleel clip Pencil lcad | Plastic ruler
(3} Pencil lead Glass slide Steel clip fron nail
) Steel clip lron pail Plaslic ruier Pencil lead |
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28. The diagram below shows two school players, John and Anna. John hits the ball over the nat
and Anna is ready to hit the ball with mors force,

Which of the following statemenis are true after Anna hits the bail?
A:  The size of tha ball changes.
B: The mass of the ball increases.
C:  The spesd of the ball increases.
D:  The direction of the ball changes.
(1) A and B only
(2) AandConly
{3} BandConly
(4} C and Donly

~End of Section A~
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Section B {44 marks)

For questions 29 to 40, write your answers in this bookiet.

29. The diagram below shows a cell of Organism Y.

%—— tail-ike structure

(a)  Scienlists made some changes to the cell of Organism Y. The
changes should aliow the cell lo:
» have a fixed body shape, and
» make its own food when thers is light.
Draw and label the changes made to the cell in the box below. [2m]

)

(b} Scientists also remarked that the tailike structure of the cell would help
Organism Y to survive better. Name 2 ways it would help Organism Y in its
supvival. [1m]
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30. Natasha saw two different Flowers, X and Y, in the garden,

{8

®)

stigma

peial
anther

£l X Flower Y

Based on the abovs diagram, how is Flower X likely to be poliinated? Explain your
answer, [2m]

Flowar ¥ has large and brightly coloured petals. How does having large and
brightly coloured petals help Flower Y to pollinate? [2mj]
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31. The diagram below shows the gills of a young and adult fish.

Gills of young Gills of adult
lish are small. fish are long
and thick.

(a) Based on the above diagram, explain why the adult fish can breathe more
than the young. [1m]

The diagram below shows Fish C which can stay on land for a long period of time.
When itis on [and, it stores water in its gill chambers. After a while, it goes back

to the water to get more water in its gili chambers before coming up to fand again,

(b} Why does Fish C get more water in its gill chambars before coming back to
land again? [1m)]
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32. The diagram belowshows part of a plant. Scme lubes were removad at different
parts of the stem as shown below, and Leaf A and B wers covered by differant
objects.

7/
7
-~
5
: 2.4
Bolh walsr<amying 1
and food-canying — L/ Loaf 8
wbes removed
Loaf A Caly focd-camying
ke ramoved
7
black paper

{a} I the food-camrying and water-carrying lubes had not been removed, draw
arrow(s) in the diagram above to show the dirsclion of the food and waler in
the plant: {im]

Type of arrow to represent the direction of water:

2

(b} Describe how Leal A and Leaf B will look like aRer a few days. Explain your
answer. [2m]
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33. Mother wanted to purchase a ketile to be used on a stove as shown in the
diagram below.

The salesperson told her that although both kettles were made from the same
material, she should buy Kettie A instead of Kettle B.

handle

r\/ B
Kellle A with 15 folds Keitle B with 5 folds
of heating coil, of heating coil.

(a) Based on the above diagram, explain why Keltle A is a better choice for
Mother. [2m]
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(b)  The salesperson showed Mother how Kettle A and Ketile B work. He poured
water at room temperature of 30°C and placed data loggers in each ketile.
Both kettles were heated and the water was left to boil,

Draw and igbel Line A to represent Kettle A and Line B to iepresent Keitle B

to show the changes in the temperature of the water in the two kettles. [1m]

Tempeorature ("C)

4 : ; . : : : - ; ! '
G Tl et mois Rt et s

275 1 RN JRORIRE SRS (INSSREY NONIRY SIS L . UD | [ty ] SRSPL PSS (A

' 4 " i : ] . : .
H ' y 1 i
17y [ SRS SR S R N R I S (V.
H v v v 1 1 } Y - 5
- ' } L ' ' i i "
ris ) S AR S SR, I (o Lo TR R A s (e
. ¥ ' H L V . ' H
" . . 1 " 1 3 ' . ks
il 1} i3 3 . i L . { |__‘_€_ -
(14 7| e (WSRO WIS JVOUUUR:: SRRV "SPUORE NUOO, S!S S .
i ) . H H ; : . H 4
Jl ] . } . . 1 ] . .:
= RS, AT (SRR T R W Rea i Sl | Sy et s [ B
B [rmrhsaniiana g e iunemte i ey aied
4 i J ‘l JI 13 13 . i .
A ———— - wemdes s ade e deimsndenccdeame tr s nmmde i e
4 4 T " i i ] t
Ll ] ] 1] 1 i I ]
0 e o s s CHRIEE MR SR PP
v 4 ' v ' \ H ' .
1 . " " . [} l ; ] "
1 . " . L] 1 '
20 frrrm e e e e

. . | H H ;
1 ] RSPCRCEYEREES OSR SARR  pe e S SR SRRy
i q v 0 0 T 0 "

0

AP P e et
i

10 20 30

Time (min)
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34. The graph below shows the change in the temperature of water over fime

Temperature (°C)

A 5 - > Time (min)

(a) Based on the graph, Student A commented that heat was removed at Point

C. Is Student A’s comment correct? Explain your answer.[1m]

(b) State two changes that Student A could have made to the water from Points
DtoF. [2m]
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35. A few students predicted that water will evaporate fester if the surrounding air
temperature is higher. To confim their prediction, they placed water in
confainers at two rooms of different temperatures.

(a) Name three factors that should be the same for a fair investigation. [3m]

(i)

(i)
i)

They recorded the mass of the water and the container in Room 1 and Room 2 for
3 days. The table below shows their resulfs.

Time ** Mass of water and container(g)
(days) Room 1 Room 2
O 100 100
1 92 85
2 80 12
3 4l 54

(b) Based on the above results, which room, 1 or 2, will have a higher air
temperawre? Explain your answer. {1m]
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36. Mandy boughi some fries from a nearby fast food restaurant. She packed the fries
in a plastic bag and tied it up. When she reached home, she noticed that the fries
were not crispy anymore and the inside of the bag was wet.

water droplets

fries plastic bag

(@) Why was the inside of the plastic bag wet? [2m]

(b) What could Mandy do to keep the fries crispy on  her way
home next time? Explain your answer. [2m]
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37.  Dave placed six metal pins P, Q, R, S, T and U on a wooden board as shown

in Figure 1 below. He connected a few of the pins below the wooden board.

Pe S :
© wooden _’(_®
// board
ol J ®7
R @y Y ‘
Figure 1

He then connected X and Y to the pins and recorded his results in the table below.

Pin connected to X | Pin connected to Y ' Did the bulb light up?
P S No

Yes
Nao

No
Yes '

el O
g2 s » G = o g M ool R |

Yes

(a) Based on the results above, use only two lines to draw the connection of the
pins in the diagram below. [2m]

P ® S
Q ¥
R® ® U
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As shown in the picture below, slreetlamps ars connected in both series and

pacallel. Usually, a set of three sireetlamps are connected in scries and each

sel is cenrected in paralle! to the next set.

(b)  Inthe space below; use circuit symbois to complete the diagram to show
how nine streellamps are connected o one ancther. The first tiree
streetlamps have been drawn for you. [1m]

| power ;Durce l

- o0

(c) Based on the method of connection for strestlamps, how will it be safe
for drivers at night? [2m]
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38. A heating element gives out heat. The diagrams oelow show how a heating

element can be connected in a circuit in two different ways.

i L i
et e

= =

heating element

Circuit A Circuit B

(a) There is 2 break 1 both circuits and the break is marked “X". State if the

heating element will work in both circuits and explain your answes. [2m]

Circuit A:

Circuit B:
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A heating element is usually inslalled a1 the back windscreen of a car as shown below.

itis connected to the car battery and is used during neavy rain -

heating element

(b} State two advantages of using Circuit B ta connect the heating clement to the
car battery, [2m)]

]
-
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39.

Gunalan carried out an experiment to find out how the mass of an object affects the
length of a spring when objects were placed on it. He placed objects of different

masses on Spring P and Spring Q, and measured the length of the spring each time.

The results are recorded in a graph as shown below.

Length of
spring (cm) 3 )
80 . Spring P :

Spring Q

60 N

40 [~ e
20 :

-+ Mass of

0 20 44 60 &0 100 object {g}

(a) What was the mass of the object when both springs were of the same length?
[1m]

(b} Which spring, P or Q, had a greater elastic spring force? Explain your answer.
[2m]
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(¢) Gunalan repeated the experiment with Spring R and recorded the results as
shown in the graph below.

Length of
spring (cm} ) i
4 , S p
80— Spring R ‘prmg
3 Epring Q
60 L
i | —]
pd
40 / 2
| "]
2
a4 l
I > Mass of

0 20 40 50 50 160 object (g)

Gunalan would like to use one of the springs to measure the mass cf two 1-

dollar coins as shown below

Which spring, P, Q or R is the least suitable? Explain your answer. [2m]
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40. Edith wanted to find out how the angle of a slope would affect how far a ball travelled.

She released a ball at the top of a plank as shown in Sel-up A and measured the

distance the ball travelled from the bottcm of the plank. She repeated lhe experiment
with a bigger angle as shown in Set-up B.

Ball
T (Mass = 100g)
(Mass = 5Cg)
-/ 5
: :: F Y \.\
Smaller angle Bigger angle
P
s 25em
N e

Distance measured Distance measured

Set-up A Set-up B

Edith predicted that the bigger angle would cause the ball to travel further. However, her
teacher told Edith that her experiment was not a fair test and her results were wrong.

(@)

Give two possible reasons why the results were wrong. [2m]

(b)  What forces are at work as the ball rolled down the slope? [2m]
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SECTION B
T dmms :

Cell wall

chloroplast

b) It will enable the cell to move towards sunlight to make food and move
away from danger.

Q30 | a)By wind. The anthers are hanging outside of the petals which makes it
> easy for wind to carry off the pollen grains.
b) It will attract pollinators such as animals which will fransfer pollen
grains to the stigma of the flower for pollination.
Q31 a) The adult fish’s gills has a greater surface areas than that of the young

fish.

b) So that it can absorb more dissolved oxygen in the water.
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Q 32

b) After a few days, Leaf A will turn brown(wither and die) as it is unable
to carry out photosynthesis due to a lack of light while Leaf B will also
wither as it is able to make food due to a lack of water.

Q33

" a) There are more folds of the heating coil in Kettle A than in Kettle B,
hence the water in Kettle A will boil faster.

oI
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—

F o™

b)

Q34

a) Student A is wrong. The témperature of water stayed constant from
- Point C to D before dropping. Hence, heat could not have been removed
at Point C.

| b) Tuming off the heat at Point D. Allowing the water to cool.

Q35

a) (i) Amount of water used. (i) The exposed surface area of the water
(iii) Temperature of water at the start of the experiment.

b) Room 2. The mass of water and container is lesser in Room 2 (549)
than in Room 1(72g) after 3 days as evaporation takes place faster in
Room 2 which has a higher air temperature.

Q36

a) Hot water vapour in the bag has condensed on the cooler surface of
the plastic bag to form water droplets.

b) She could open the plastic bag to allow the water vapour to escape,
hence preventing the water vapour from condensing in the bag, keeping
the fries crispy.
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Q37

la)P

2 — AR
K=Kl —
c) If one of the street lamps, a'rranged in a series fuses, all the other

lamps in the series will not light up. However, the street lamps arranged in
parallel will still remain lighted to guide the drivers at night :

Q38

Circuit A: No. The break at X will result in an open circuit and the element
cannot be heated up.

Circuit B: Yes. The break at X will only result in an open circuit for one of
the heating element. The other heating elements can siill work and the
circuits are closed.

b) Electricity will be equally distributed and héhéé-the elements will be
evenly heated up. If one of the elements is not working well, the other
elements can still be heated.

Q 39

a) 20g

b) Spring P extends 20cm more than Spring Q when the same mass is
added to bolh springs.

c) Spring R. It stopped extending after placing objects of 30g whereas
Spring P and Q were able to extend after objects with greater mass were
placed on them.

Q 40

a) The mass of the 2 balls is different. The starting point of the ball is
different.

b) Frictional and Gravitational forces.
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